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 Maths Answer Key 
 

Class- II 
 

1. Missing Numbers                                                                           
 

a) 90  -  60 =   30 
b) 77  -  63 =   14 
c) 79  - 57  =   22 
d) 58  -  9   =   49 
e) 32  -  6   =   26 

 
 
 

2. Subtraction                                                                        
 
 
 

 

3. Write in HTO Column and find the product.  
 
 
 

4. Problem Sums 
a)  

                                                                           H   T  O 
No. of sweets in the box                       56   18   9 
No. of sweets Aryan takes                 -   4    9   2 

 
Total no. of sweets left                            1   9   7 

                     
Ans: There are 197 sweets left in the box. 
 
    

b)  
                                                                           H   T   O 

No. of pages in the storybook                 1   3   9 
No. of pages Chirag read                   -          3   7 

 
Total no. of pages left to read                  1  0   2 

                     
Ans: Chirag has 102 pages left to read. 
 

     
T O    H T O   T O H T O    H T O 
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T O     H   T   O   T O   H T O  H  T  O 
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Answer For The Regroup and Subtract Exercise (Page 42): 
19 
29 
54 

42 
39 
8 

69 
33 
89 

 
 
 
Answer for Exercise A (Page 44) Find The Difference: 
42 
27 
37 

20 
42 
16 

16 
7 
5 

26 
15 
7 

 
 
 
Answer For Exercise B (Page 45) Regroup the Ones to Subtract: 
27 
8 
44 

72 
22 
23 

64 
43 
4 

23 
69 
30 

 
 
 
Answer for Exercise A (Page 50) Solve these Word Problems 

  T  O 

   1  6      

-  1  1 

       5    

There are 5 boys. 

 

  T  O 

 78 15      

 -     9 

   7  6 

76 Chillies are left on the plant. 

 

  T  O 
12 14                 No. of rose bushes in the park.     

 -    5                 No. of bushes having red roses. 

  1  9                 Total no. of bushes not having red roses. 

19 bushes do not have red roses. 

 

   T   O 

  67 12                 Grandmother’s age.       

  -     9                Tanya’s age 

   6   3                Tanya’s Grandmother older than Tanya.    

Tanya’s grandmother is 63 years older than Tanya. 
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